Bid Date: 9-Oct-18

Project Location: Round Rock, Williamson County, Texas





WAELTZ & PRETE, INC. CIVIL ENGINEERS

3000 Joe DiMaggio BLvd. #72 ROUND ROCK, TX. 78665 PH (512) 505-8953 FIRM REG. #F-10308

BID TAB				DeNUCC	CONSTRU	CTORS, LLC	G CREEK CO	ONSTRU	CTION, INC	SMITH	H CONSTR	RUCTIO	N CO., INC.	PATIN CO	NSTRUC'	TION, LLC	1	AUSTIN FILT	ER SYS	TEMS, INC.
				Addendum #1		Acknowledged	Addendum #1		Acknowledged	Addend	dum #1		Acknowledged	Addendum #1		Acknowledged	Δ	ddendum #1		Acknowledged
				Addendum #2		Acknowledged	Addendum #2		Acknowledged	Addend	ium #2	-	Acknowledged	Addendum #2		Acknowledged		ddendum #2		Acknowledged
				Addendum #3		Acknowledged	Addendum #3		Acknowledged	Addend	ium #3		Acknowledged	Addendum #3		Acknowledged	-	ddendum #3		Acknowledged
				Bid Bond		Received	Bid Bond		Received	Bid B	Bond		Received	Bid Bond		Received		Bid Bond		Received
		-		Safety Exp		Completed	Safety Exp		Completed	Safety	/ Ехр		Completed	Safety Exp		Completed		Safety Exp		Completed
Bid Item		Quantity	Unit	Unit Price		Cost	Unit Price		Cost	Unit F	Price		Cost	Unit Price		Cost	l	Init Price		Cost
1	Total Mobilization Payment, complete in place,	1	LS	\$ 60,000.	00 \$	60,000.00	\$ 75,000.00	\$	75,000.00	\$ 100,0	000.00	\$	100,000.00	\$ 118,000.00	\$	118,000.00		125,000.00	\$	125,000.00
2	Unclassified Street Excavation, Plan Quantity, complete in place, (Reference Technical Specifications, ITEM 6 – "City of Round Rock Standard Specifications Modifications")	5,536	CY	\$ 16.0	00 \$	88,576.00	\$ 18.00	\$	99,648.00	\$	25.00	\$	138,400.00	\$ 22.00	\$	121,792.00	\$	30.00	\$	166,080.00
3	Embankment, Plan Quantity, complete in place, (Reference Technical Specifications, ITEM 6 – "City of Round Rock Standard Specifications Modifications")	1,637	CY	\$ 10.0	00 \$	16,370.00	\$ 24.00	\$	39,288.00	\$	20.00	\$	32,740.00	\$ 5.00	\$	8,185.00	\$	9.00	\$	14,733.00
4	Stabilized Construction Entrance, complete in place,	2	EA	\$ 1,200.0	00 \$	2,400.00	\$ 2,000.00	\$	4,000.00	\$ 9	900.00	\$	1,800.00	\$ 1,500.00	\$	3,000.00	\$	1,500.00	\$	3,000.00
5	Silt Fence for Erosion Control, complete in place,	6,052	LF	\$ 3.0	90 \$	18,156.00	\$ 4.00	\$	24,208.00	\$	1.95	\$	11,801.40	\$ 2.50	\$	15,130.00	\$	2.50	\$	15,130.00
6	Rock Berm, complete in place,	72	LF	\$ 35.0	00 \$	2,520.00	\$ 48.00	\$	3,456.00	\$	24.00	\$	1,728.00	\$ 25.00	\$	1,800.00	\$	44.00	\$	3,168.00
7	Tree Protection, Type A Chain Link, complete in place,	2,579	LF	\$ 6.0	00 \$	15,474.00	\$ 7.00	\$	18,053.00	\$	3.05	\$	7,865.95	\$ 3.50	\$	9,026.50	\$	3.50	\$	9,026.50
8	Inlet Protection, complete in place,	4	EA	\$ 85.0	00 \$	340.00	\$ 250.00	\$	1,000.00	\$	80.00	\$	320.00	\$ 75.00	\$	300.00	\$	100.00	\$	400.00
9	Erosion Blanket, Curlex II, or approved equal, complete in place, ,	7,355	SY	\$ 6.0	00 \$	44,130.00	\$ 1.50	\$	11,032.50	\$	1.55	\$	11,400.25	\$ 2.50	\$	18,387.50	\$	1.00	\$	7,355.00
10	Turf Reinforcement Mat (TRM), Land Lok 300, or Appoved Equal, Complete in place,	294	SY	\$ 10.	00 \$	2,940.00	\$ 5.00	\$	1,470.00	\$	19.00	\$	5,586.00	\$ 10.00	\$	2,940.00	\$	21.00	\$	6,174.00
11	Non-Native Seeding for Erosion Control, Complete in place,	1	LS	\$ 26,000.	00 \$	26,000.00	\$ 30,000.00	\$	30,000.00	\$ 40,0	000.00	\$	40,000.00	\$ 12,000.00	\$	12,000.00	\$	9,000.00	\$	9,000.00
12	Flexible Base, including subgrade preparation, complete in place,	845	CY	\$ 65.	00 \$	54,925.00	\$ 48.00	\$	40,560.00	\$	50.00	\$	42,250.00	\$ 50.00	\$	42,250.00	\$	87.00	\$	73,515.0
13	Hot Mix Asphaltic Concrete Pavement, (1-1/2" Thick, Type C), Complete in place,	426	SY	\$ 18.	00 \$	7,668.00	\$ 22.00	\$	9,372.00	\$	35.00	\$	14,910.00	\$ 58.00	\$	24,708.00	\$	24.00	\$	10,224.00

BID TAE	3			D	eNUCCI CON	ISTRUC	TORS, LLC	(G CREEK CON	ISTRU	CTION, INC	S	MITH CONST	RUCTIO	ON CO., INC.	F	PATIN CONS	TRUCT	ION, LLC	1	AUSTIN FILTE	R SYS	TEMS, INC.
				Add	Idendum #1		Acknowledged	A	ddendum #1		Acknowledged	A	Addendum #1		Acknowledged	Add	endum #1		Acknowledged	Δ.	ddendum #1		Acknowledged
					ldendum #2		Acknowledged	A	ddendum #2		Acknowledged	A	Addendum #2		Acknowledged	-	endum #2		Acknowledged		Idendum #2		Acknowledged
					Idendum #3		Acknowledged		ddendum #3		Acknowledged	A	Addendum #3		Acknowledged	Adde	endum #3		Acknowledged	Ac	dendum #3		Acknowledged
					Bid Bond Safety Exp		Received Completed		Bid Bond		Received	-	Bid Bond		Received		d Bond		Received		Bid Bond		Received
				-	diety Exp		Completed	+	Safety Exp		Completed	-	Safety Exp		Completed	Sa	fety Exp		Completed		Safety Exp		Completed
Bid Item		Quantity	Unit	Ur	nit Price		Cost	U	Jnit Price		Cost	ι	Unit Price		Cost	Un	t Price		Cost	U	nit Price		Cost
14	Metal Beam Guard Fence, including posts and all appurtanences, Complete in place,	300	LF	\$	105.00	\$	31,500.00	\$	120.00	\$	36,000.00	\$	28.00	\$	8,400.00	\$	25.00	\$	7,500.00	\$	24.00	\$	7,200.00
15	Pedestrian Truss Bridge (75'), Including the Coordination of Shipping, Delivery, Acceptance, and Installation of the Pedestrian Bridge, including all Appurtenances, Complete in place,	1	EA	\$ 14	45,000.00	\$	145,000.00	\$ 1	144,000.00	\$	144,000.00	\$	150,000.00	\$	150,000.00	\$ 18	0,000.00	\$	180,000.00	\$ 1	117,000.00	\$	117,000.00
16	10' x 10' Concrete Box Culvert, including excavation, bedding, backfill, subgrade prep, and all appurtenances, complete in place,	72	LF	\$	800.00	\$	57,600.00	\$	1,800.00	\$	129,600.00	\$	1,100.00	\$	79,200.00	\$	900.00	\$	64,800.00	\$	2,170.00	\$	156,240.00
17	Parallel Wing Wall for Box Culvert (Type PW-2), complete in place,	2	EA	\$	6,500.00	\$	13,000.00	\$	5,000.00	\$	10,000.00	\$	25,000.00	\$	50,000.00	\$ 1	5,000.00	\$	30,000.00	\$	21,000.00	\$	42,000.00
18	P.C. Concrete Ribbon Curb, including all appurtenance, Complete in place,	180	LF	\$	22.00	\$	3,960.00	\$	24.00	\$	4,320.00	\$	20.00	\$	3,600.00	\$	11.00	\$	1,980.00	\$	40.00	\$	7,200.00
19	P.C. Concrete Trail, (5" thick), complete in place,	60,747	SF	\$	6.00	\$	364,482.00	\$	8.25	\$	501,162.75	\$	5.75	\$	349,295.25	\$	5.00	\$	303,735.00	\$	6.70	\$	407,004.90
20	P.C. Concrete Sidewalk, (4" Thick), complete in place,	567	SF	\$	10.00	\$	5,670.00	\$	8.00	\$	4,536.00	\$	5.00	\$	2,835.00	\$	5.00	\$	2,835.00	\$	9.20	\$	5,216.40
21	Gabion Mattress, including subgrade preparation, fabric, and all appurtenances, complete in place,	300	CY	\$	90.00	\$	27,000.00	\$	200.00	\$	60,000.00	\$	200.00	\$	60,000.00	\$	150.00	\$	45,000.00	\$	200.00	\$	60,000.00
22	P.C. Concrete SET (3:1), Single 12" RCP, complete in place,	2	EA	\$	3,000.00	\$	6,000.00	\$	1,500.00	\$	3,000.00	\$	1,300.00	\$	2,600.00	\$	2,500.00	\$	5,000.00	\$	2,412.00	\$	4,824.00
23	P.C. Concrete SET (3:1), Double 18" RCP, complete in place,	3	EA	\$	6,000.00	\$	18,000.00	\$	1,800.00	\$	5,400.00	\$	1,800.00	\$	5,400.00	\$	4,000.00	\$	12,000.00	\$	2,386.00	\$	7,158.00
24	P.C. Concrete SET (3:1), Single 24" RCP, complete in place,	2	EA	\$	3,000.00	\$	6,000.00	\$	2,200.00	\$	4,400.00	\$	2,100.00	\$	4,200.00	\$	5,000.00	\$	10,000.00	\$	2,433.00	\$	4,866.00
25	Pipe, 8" DI CL 350, including excavation, backfill, and all appurtenances, complete in place,	126	LF	\$	125.00	\$	15,750.00	\$	120.00	\$	15,120.00	\$	150.00	\$	18,900.00	\$	100.00	\$	12,600.00	\$	402.00	\$	50,652.00
26	Valve, 8" G.V., including Valve Box and all appurtenances, complete in place,	2	EA	\$	2,200.00	\$	4,400.00	\$	3,000.00	\$	6,000.00	\$	1,900.00	\$	3,800.00	\$	5,000.00	\$	10,000.00	\$	3,600.00	\$	7,200.00
27	Pipe, 12" RCP CL III, including excavation, backfill, and all appurtenances, complete in place,	142	LF	\$	85.00	\$	12,070.00	\$	84.00	\$	11,928.00	\$	68.00	\$	9,656.00	\$	60.00	\$	8,520.00	\$	87.00	\$	12,354.00

BID TAB	;			De	eNUCCI CON	STRUC	TORS, LLC		G CREEK CO	NSTRU	CTION, INC	5	MITH CONSTI	RUCTIO	ON CO., INC.		PATIN CONS	TRUCT	TON, LLC	-	AUSTIN FILTI	ER SYS	TEMS, INC.
				Add	dendum #1		Acknowledged	1	Addendum #1		Acknowledged	1	Addendum #1		Acknowledged	Ad	dendum #1	9	Acknowledged	Ar	Idendum #1	· · · · · · · · · · · · · · · · · · ·	Acknowledged
				200	dendum #2		Acknowledged	_	Addendum #2		Acknowledged	1	Addendum #2		Acknowledged	Ad	dendum #2		Acknowledged		Idendum #2		Acknowledged
					dendum #3 Bid Bond		Acknowledged	1	Addendum #3		Acknowledged	1	Addendum #3		Acknowledged		dendum #3		Acknowledged	Ad	ldendum #3		Acknowledged
				-	afety Exp		Received Completed	+	Bid Bond Safety Exp		Received Completed	-	Bid Bond Safety Exp		Received		Bid Bond		Received		Bid Bond		Received
ana eman									outery Exp		Completed	\vdash	Salety Exp		Completed	5	afety Exp		Completed		Safety Exp		Completed
Bid Item		Quantity	Unit	Ur	nit Price		Cost		Jnit Price		Cost	,	Unit Price		Cost	Uı	nit Price		Cost	U	nit Price		Cost
28	Pipe, 18" RCP CL III, including excavation, backfill, and all appurtenances, complete in place,	138	LF	\$	100.00	\$	13,800.00	\$	96.00	\$	13,248.00	\$	72.00	\$	9,936.00	\$	70.00	\$	9,660.00	\$	127.00	\$	17,526.00
29	Pipe, 24" RCP CL III, including excavation, backfill, and all appurtenances, complete in place,	153	LF	\$	125.00	\$	19,125.00	\$	108.00	\$	16,524.00	\$	78.00	\$	11,934.00	\$	80.00	\$	12,240.00	\$	157.00	\$	24,021.00
30	Pipe, 24" RCP CL V, including excavation, backfill, and all appurtenances, complete in place,	53	LF	\$	145.00	\$	7,685.00	\$	108.00	\$	5,724.00	\$	100.00	\$	5,300.00	\$	100.00	\$	5,300.00	\$	119.00	\$	6,307.00
31	Sleeve, CONDT (4" PVC) SCHD 40, complete in place,	462	LF	\$	30.00	\$	13,860.00	\$	10.00	\$	4,620.00	\$	12.00	\$	5,544.00	\$	7.00	\$	3,234.00	\$	16.00	\$	7,392.00
32	Dry Riprap, Rock (d50 = 15" dia.) complete in place,	84	CY	\$	85.00	\$	7,140.00	\$	144.00	\$	12,096.00	\$	95.00	\$	7,980.00	\$	150.00	\$	12,600.00	\$	162.00	\$	13,608.00
33	Dry Riprap, Rock (d50 = 18" dia.) complete in place,	31	CY	\$	120.00	\$	3,720.00	\$	156.00	\$	4,836.00	\$	115.00	\$	3,565.00	\$	175.00	\$	5,425.00	\$	162.00	\$	5,022.00
34	3' x 3' grate inlet, complete in place,	2	EA	\$	4,800.00	\$	9,600.00	\$	2,700.00	\$	5,400.00	\$	2,100.00	\$	4,200.00	\$	4,000.00	\$	8,000.00	\$	2,861.00	\$	5,722.00
35	4' x 4' grate inlet, complete in place,	1	EA	\$	5,500.00	\$	5,500.00	\$	3,600.00	\$	3,600.00	\$	2,800.00	\$	2,800.00	\$	5,000.00	\$	5,000.00	\$	3,783.00	\$	3,783.00
36	Mortared Rock Retaining Wall, complete in place,	47	SF	\$	165.00	\$	7,755.00	\$	120.00	\$	5,640.00	\$	60.00	\$	2,820.00	\$	35.00	\$	1,645.00	\$	65.00	\$	3,055.00
37	Pedestrian Guard Rail including metal rails, concrete post base, and all appurtenances, complete in place,	538	LF	\$	105.00	\$	56,490.00	\$	120.00	\$	64,560.00	\$	100.00	\$	53,800.00	\$	113.00	\$	60,794.00	\$	92.00	\$	49,496.00
38	Black Vinyl Chain Link Fence, including post base and all appurtenances, complete in place,	635	LF	\$	44.00	\$	27,940.00	\$	54.00	\$	34,290.00	\$	29.00	\$	18,415.00	\$	32.00	\$	20,320.00	\$	50.00	\$	31,750.00
39	Barbed Wire Fence, TxDot 5 Strand including post, wire, base and all appurtenances, complete in place,	323	LF	\$	35.00	\$	11,305.00	\$	14.00	\$	4,522.00	\$	12.00	\$	3,876.00	\$	12.00	\$	3,876.00	\$	24.00	\$	7,752.00
40	Flagstone Pavement (Smooth Cut), complete in place,	5,127	SF	\$	22.00	\$	112,794.00	\$	15.00	\$	76,905.00	\$	18.00	\$	92,286.00	\$	20.00	\$	102,540.00	\$	55.00	\$	281,985.00
41	Bench, complete in place,	5	EA	\$	4,000.00	\$	20,000.00	\$	960.00	\$	4,800.00	\$	1,300.00	\$	6,500.00	\$	2,000.00	\$	10,000.00	\$	2,000.00	\$	10,000.00
42	Bench Pad, complete in place,	5	EA	\$	1,200.00	\$	6,000.00	\$	2,000.00	\$	10,000.00	\$	1,000.00	\$	5,000.00	\$	420.00	\$	2,100.00	\$	2,000.00	\$	10,000.00
43	Dog Waste Station, complete in place,	6	EA	\$	1,200.00	\$	7,200.00	\$	500.00	\$	3,000.00	\$	650.00	\$	3,900.00	\$	1,050.00	\$	6,300.00	\$	460.00	\$	2,760.00
44	Trail Distance/ Location Marker, complete in place,	5	EA	\$	4,500.00	\$	22,500.00	\$	240.00	\$	1,200.00	\$	800.00	\$	4,000.00	\$	510.00	\$	2,550.00	\$	460.00	\$	2,300.00

BID TAE	3			1	DeNUCCI CON	STRUC	TORS, LLC	G CREEK CO	NSTRU	CTION, INC	S	MITH CONST	RUCTIO	ON CO., INC.		PATIN CONST	TRUCT	ION, LLC		AUSTIN FILTE	R SYS	TEMS, INC.
				Α	ddendum #1		Acknowledged	Addendum #1		Acknowledged	P	ddendum #1		Acknowledged	Ad	dendum #1		Acknowledged	A	ddendum #1		Acknowledged
				Α	ddendum #2		Acknowledged	Addendum #2		Acknowledged	-	Addendum #2		Acknowledged	20070	dendum #2		Acknowledged		ddendum #2		Acknowledged
()			1	A	ddendum #3		Acknowledged	Addendum #3		Acknowledged	1	ddendum #3		Acknowledged	Ad	dendum #3	3	Acknowledged	A	ddendum #3		Acknowledged
					Bid Bond		Received	Bid Bond		Received		Bid Bond		Received	1	Bid Bond		Received		Bid Bond		Received
					Safety Exp		Completed	Safety Exp		Completed		Safety Exp		Completed	S	afety Exp		Completed		Safety Exp		Completed
Bid Item		Quantity	Unit	ι	Jnit Price		Cost	Unit Price		Cost	ι	Jnit Price		Cost	Uı	nit Price		Cost	ι	Init Price		Cost
45	No Dig Signs, complete in place,	2	EA	\$	400.00	\$	800.00	\$ 240.00	\$	480.00	\$	400.00	\$	800.00	\$	510.00	\$	1,020.00	\$	460.00	\$	920.00
46	Eco Counter, complete in place,	1	EA	\$	10,000.00	\$	10,000.00	\$ 9,000.00	\$	9,000.00	\$	5,000.00	\$	5,000.00	\$	5,000.00	\$	5,000.00	\$	5,610.00	\$	5,610.00
47	Electric Service, Provide Unistrut with meter, 100 amp Panel, 120V, & all appurtenances, complete in place,	2	EA	\$	12,000.00	\$	24,000.00	\$ 24,000.00	\$	48,000.00	\$	5,000.00	\$	10,000.00	\$	5,500.00	\$	11,000.00	\$	5,300.00	\$	10,600.00
48	2' (Wall Height) complete in place,	96	LF	\$	120.00	\$	11,520.00	\$ 150.00	\$	14,400.00	\$	308.00	\$	29,568.00	\$	200.00	\$	19,200.00	\$	192.00	\$	18,432.00
49	4' (Wall Height) complete in place,	360	LF	\$	135.00	\$	48,600.00	\$ 186.00	\$	66,960.00	\$	310.00	\$	111,600.00	\$	400.00	\$	144,000.00	\$	281.00	\$	101,160.00
50	6' (Wall Height) complete in place,	474	LF	\$	180.00	\$	85,320.00	\$ 252.00	\$	119,448.00	\$	315.00	\$	149,310.00	\$	580.00	\$	274,920.00	\$	400.00	\$	189,600.00
51	8' (Wall Height) complete in place,	206	LF	\$	260.00	\$	53,560.00	\$ 318.00	\$	65,508.00	\$	325.00	\$	66,950.00	\$	800.00	\$	164,800.00	\$	500.00	\$	103,000.00
52	10' (Wall Height) complete in place,	84	LF	\$	350.00	\$	29,400.00	\$ 378.00	\$	31,752.00	\$	350.00	\$	29,400.00	\$	900.00	\$	75,600.00	\$	507.00	\$	42,588.00
53	12' (Wall Height) complete in place,	24	LF	\$	480.00	\$	11,520.00	\$ 480.00	\$	11,520.00	\$	850.00	\$	20,400.00	\$	1,100.00	\$	26,400.00	\$	783.00	\$	18,792.00
54	14' (Wall Height) complete in place,	56	LF	\$	560.00	\$	31,360.00	\$ 600.00	\$	33,600.00	\$	1,700.00	\$	95,200.00	\$	1,300.00	\$	72,800.00	\$	825.00	\$	46,200.00
55	16' (Wall Height) complete in place,	50	LF	\$	640.00	\$	32,000.00	\$ 660.00	\$	33,000.00	\$	2,000.00	\$	100,000.00	\$	1,500.00	\$	75,000.00	\$	935.00	\$	46,750.00
56	4'x 4' Block Wall Section for Single 24" Drain Pipe, including all appurtenances, complete in place,	1	EA	\$	4,200.00	\$	4,200.00	\$ 4,000.00	\$	4,000.00	\$	3,500.00	\$	3,500.00	\$	3,000.00	\$	3,000.00	\$	2,400.00	\$	2,400.00
57	4'x 8' Block Wall Section for Double 18" Drain Pipe, including all appurtenances, complete in place,	1	EA	\$	6,500.00	\$	6,500.00	\$ 6,000.00	\$	6,000.00	\$	4,000.00	\$	4,000.00	\$	3,000.00	\$	3,000.00	\$	3,300.00	\$	3,300.00
58	Concrete Bridge Abutment including all appurtenances, complete in place,	2	EA	\$	6,500.00	\$	13,000.00	\$ 25,000.00	\$	50,000.00	\$	25,000.00	\$	50,000.00	\$	15,000.00	\$	30,000.00	\$	7,600.00	\$	15,200.00
59	Piers, 24" Diameter, including all appurtenances, complete in place,	70	VF	\$	165.00	\$	11,550.00	\$ 240.00	\$	16,800.00	\$	300.00	\$	21,000.00	\$	350.00	\$	24,500.00	\$	157.00	\$	10,990.00
60	Pavement Treatment, heavy salt finish, including all appurtenances, complete in place,	330	SF	\$	12.00	\$	3,960.00	\$ 10.00	\$	3,300.00	\$	11.00	\$	3,630.00	\$	3.50	\$	1,155.00	\$	17.00	\$	5,610.00
61	Pavement Treatment, dark stain "cor-ten" Salt/Broom finish, complete in place,	1,342	SF	\$	18.00	\$	24,156.00	\$ 15.00	\$	20,130.00	\$	10.00	\$	13,420.00	\$	2.50	\$	3,355.00	\$	17.00	\$	22,814.00

BID TAB	3				D	eNUCCI CON	ISTRUC	TORS, LLC	G CREEK CO	NSTRU	CTION, INC		SMITH CONSTI	RUCTIO	N CO., INC.	P	ATIN CONS	TRUCT	ION, LLC		AUSTIN FILTI	ER SYS	TEMS, INC.
					Ad	dendum #1		Acknowledged	Addendum #1		Acknowledged		Addendum #1		Acknowledged	Adden	ndum #1		Acknowledged	A	ddendum #1		Acknowledged
					Ad	dendum #2	9	Acknowledged	Addendum #2		Acknowledged	1	Addendum #2		Acknowledged		ndum #2		Acknowledged		ddendum #2		Acknowledged
					Ad	dendum #3		Acknowledged	Addendum #3		Acknowledged	/	Addendum #3		Acknowledged	Adden	ndum #3		Acknowledged	A	ddendum #3		Acknowledged
						Bid Bond		Received	Bid Bond		Received		Bid Bond		Received	Bid	Bond		Received		Bid Bond		Received
					S	afety Exp		Completed	Safety Exp		Completed	-	Safety Exp		Completed	Safe	ty Exp		Completed	Į.	Safety Exp		Completed
Bid Item			Quantity	Unit	U	nit Price		Cost	Unit Price		Cost		Unit Price		Cost	Unit	Price		Cost	Ι,	Jnit Price		Cost
62	North Wing Wall with Column, at Georgetown street, complete in place,		1	SF	\$	4,800.00	\$	4,800.00	\$ 5,000.00	\$	5,000.00	\$	15,000.00	\$	15,000.00	\$ 3	3,200.00	\$	3,200.00	\$	5,000.00	\$	5,000.00
63	South Wing Wall with Column, at Georgetown street, complete in place,		1	LS	\$	4,800.00	\$	4,800.00	\$ 5,000.00	\$	5,000.00	\$	15,000.00	\$	15,000.00	\$ 3	3,200.00	\$	3,200.00	\$	5,000.00	\$	5,000.00
64	Trail Head Signage stand-alone, at Georgetown street, complete in place,		1	LS	\$	8,500.00	\$	8,500.00	\$ 10,000.00	\$	10,000.00	\$	8,000.00	\$	8,000.00	\$ 2	2,600.00	\$	2,600.00	\$	6,500.00	\$	6,500.00
65	Call Box & Electrical Connection, complete in place,		1	LS	\$	8,000.00	\$	8,000.00	\$ 15,600.00	\$	15,600.00	\$	11,000.00	\$	11,000.00	\$ 12	2,000.00	\$	12,000.00	\$	16,000.00	\$	16,000.00
66	Trail Head Signage with Wing at A.W. Grimes, complete in place,	Wall	1	LS	\$	6,500.00	\$	6,500.00	\$ 4,000.00	\$	4,000.00	\$	21,000.00	\$	21,000.00	\$ 8	3,700.00	\$	8,700.00	\$	12,000.00	\$	12,000.00
67	Landscape Shrubs 3 GAL including planting, and staking, complete in place,		155	EA	\$	65.00	\$	10,075.00	\$ 36.00	\$	5,580.00	\$	32.00	\$	4,960.00	\$	30.00	\$	4,650.00	\$	46.00	\$	7,130.00
68	Landscape Groundcovers 1 GAL, including planting, complete in place,		95	EA	\$	45.00	\$	4,275.00	\$ 30.00	\$	2,850.00	\$	9.00	\$	855.00	\$	11.00	\$	1,045.00	\$	20.00	\$	1,900.00
69	12" Depth Soil mix in Landscape Beds complete in place,		21	CY	\$	85.00	\$	1,785.00	\$ 80.00	\$	1,680.00	\$	30.00	\$	630.00	\$	70.00	\$	1,470.00	\$	53.00	\$	1,113.00
70	Geotextile fabric, complete in place,		563	SF	\$	12.00	\$	6,756.00	\$ 3.00	\$	1,689.00	\$	0.40	\$	225.20	\$	1.00	\$	563.00	\$	1.00	\$	563.00
71	1/4" Steel Edging, complete in place,		126	LF	\$	16.00	\$	2,016.00	\$ 16.00	\$	2,016.00	\$	6.00	\$	756.00	\$	4.00	\$	504.00	\$	9.00	\$	1,134.00
72	New Site Irrigation System including all trenching, conduit, backfill, wiring, fittings, boxes, fixtures, controller, meters and appurtenances, complete in place,		1	LS	\$	45,000.00	\$	45,000.00	\$ 48,000.00	\$	48,000.00	\$	15,000.00	\$	15,000.00	\$ 17	7,000.00	\$	17,000.00	\$	31,000.00	\$	31,000.00
73	Place 3" Depth Hardwood Mulch, (Material is provided by Owner On-Site.) complete in place,		5.2	CY	\$	125.00	\$	650.00	\$ 25.00	\$	130.00	\$	100.00	\$	520.00	\$	42.00	\$	218.40	\$	26.00	\$	135.20
74	Civil – Sheet C-40 - 2' (Wall Height) Quarry Cut 4' x 2' x 2' Limestone Block Retaining Wall, Including Backfill, 12" Concrete footer, 6" limestone base, wall drainage rock, with weeps And all appurtenances, complete in place,		40	LF	\$	160.00	\$	6,400.00	\$ 72.00	\$	2,880.00	\$	350.00	\$	14,000.00	\$	250.00	\$	10,000.00	\$	180.00	\$	7,200.00
75	Civil – Sheet C-40 - 4' (Wall Height) Quarry Cut 4' x 2' x 2' Limestone Block Retaining Wall, Including Backfill, 12" Concrete footer, 6" limestone base, wall drainage rock, with weeps And all appurtenances, complete in place,		80	LF	\$	200.00	\$	16,000.00	\$ 144.00	\$	11,520.00	\$	350.00	\$	28,000.00	\$	450.00	\$	36,000.00	\$	355.00	\$	28,400.00

BID TAB				DeNUCCI CON	ISTRUCTORS, LLC	G CREEK CO	NSTRUCTION, INC	SMITH CONS	TRUCTION CO., INC.	PATIN CON	STRUCTION, LLC	AUSTIN FILT	ER SYSTEMS, INC.
			1 - '	Addendum #1	Acknowledged	Addendum #1	Acknowledged						
			('	Addendum #2	Acknowledged	Addendum #2	Acknowledged						
			('	Addendum #3	Acknowledged	Addendum #3	Acknowledged						
			1 '	Bid Bond	Received	Bid Bond	Received						
			<u></u> '	Safety Exp	Completed	Safety Exp	Completed						
Bid Item	T	Quantity	Unit	Unit Price	Cost	Unit Price	Cost						
	Total Base Bid Amount (Base Bid Items 1 thru 76)				\$ 1,929,348.00		\$ 2,213,362.25		\$ 2,247,268.05		\$ 2,378,973.40		\$ 2,581,241.0
	Materials : All Other Charges :				\$ 787,500.00 \$ 1,141,848.00		\$ 885,344.90 \$ 1,328,017.35		\$ 1,348,360.83 \$ 898,907.22		\$ 1,388,174.37 \$ 990,799.03		\$ 495,305 \$ 2,085,936

	TEM, ADDITIVE & DEDUCTIVE QUANTI	TIES																	
Bid Item		Quantity	Unit	Ur	nit Price	Cost	Unit Price	9	Cos	t	Ur	nit Price	 Cost	Uni	it Price	Cost	Ur	it Price	Cost
in plans,	uct for Piers over/under bid length noted eter, including all appurtenances, in place,	1	VF	\$	165.00	\$ 165.00	\$ 40	.00 \$	Б	40.00	\$	300.00	\$ 300.00		350.00	\$ 350.00		127.00	\$ 127.00

IDENTIFY MATHMATICAL ERRORS IN BID

